HSSC Clerk, 23 Sep 2019, Morning

5/2019 (1) (M2)

1. A capital of Lakshadweep, a Union Territory
of India is

(A) Silvassa
(C) Kavaratti

(B) Minicoy
(D) Port Blair

2. Ifafunction f: R — R is defined by
f(x) = x* ~ 9X + 22 then f-'(4) =
(A) ‘3. 6] (B) [3'_6}
(C) {-3,6} (D) none of these

3. Unit of cryoscopic constant is
(A) g mol” (B) kg mol™
(C) K kg mol (D) mol kg™ K

4. Which is not an-Assignment Operator ?
(A) = (B) /=
©) += (D) !=

5. Panchkula IT Park was established
the year
(A) 2004 (B) 2008
(C) 2006 (D) 207S

6. Choose out the odd one.
(A) Write (b, Knowledge
(C) Read (D) Learn

7. Yamunanagar or Haryana is also called as
(A) Paper city “B) Textile city
(C) Steel city (D) Copper city

8. The Allahabad Pillar Inscription was composed
by which of the following scholar ?

: (A) Harishena
'(B), Mayura - _
. * *(Cy Chanakya
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1. WW%?Wmmﬂm I
NV [ | &
(A) Rreamn (B) firfta
4C) FTETH (D) Ui oIt
2. IRGEHHAF:R R, fi(x)=x"-9x+22
g afyiE SR, @ £'(4) =
(A) (3,6) JUB) (3,-6)
(C) {-3,6} (D) T A g T
3. FREE s H s e 7
(A) g mol™! 4B) kg mol™ a
(C) XK kg mol™ (D) mol kg K
4. A PG SETEE ATRA T B ? >
(A)= (®) = >
(C) += (.B) 1=
5, g [T arh e o 3 e fepm e 2
JA) 2004 (B) 2008
(C) 2006 (D) 2005
6. faww A
(A) ST «B) gfaw
(C) T& (D) Hr@E
7. wheTon % AT i AR ot e S R
LK) FTEH AR (B) FISTH IR
(C) TRH TR (D) ATl il TR

8. e T Rietera fferfaa # &
Rram @ fE R ?
) ThEm

(B) w0
(C) S

(D) s : s
'31-37‘* 16-36 tat
Wik s

e —
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9, If o and B are the roots of the equation

2
ax>+bx + ¢ =0 then (E—E is
B a

() Mi(b=da0) gy bI(b?-4dac)
ac a2‘:2
' b2(b-4 2.0y ;
© TO=29 " 5 bb-dar)
ac ac

10. Which of the following Commit
constituted to boost digital paymerl::s' ;:;
enhance financial inclusion ?

0 L(A) Praveen Kutumbe Committee
A o ,:) (B) Nandan Nilekani Committee
(C) U. K. Sinha Committee

G’F (D) None of the above
YT 2y rEY
11, The ChrkH{Dadri District was formed in

the year

(A) December 2015
(B) December 2014
(C) December 2016
(D) December 2013

12. A paramagnetic gas at roc
(T =300 K) is placed in &'
magnetic field of ma-
the atoms of the
dipole moment W
translational kinetit

(A) 0.5eV

(C) 0.011eV
13. HSIDC has developew an \nuustrial model

township at

(A) Manesar (B) Hisar

(C) Gurugram (D) Biwani
14, Complete the series.

2,3,6,15,42,?

(A) 84 (B) 94

(©) 123 (D) 60

10.

Lh B

2.

13.

14.

5/2019 (1) (M2)
aﬁaaﬂ}ﬂwﬁw“ubﬂc:oaﬁ
E_._B_] -
B o
2 23
@) 2 (b-dac) g b (b2 24ac)
ac ac
2(h_dal -
- b2(b ;Ia ) (p) blb-da)
ac ac
fefireat YTaH )t FgrE 23 3k forfla oA
1 weR & fou PrfiRea o @ form wfafa =1
e R T R ?
(A) et Fg=t wfafa
(B) &= Fremoft afifa
(£ g . e afufa
(D) 39T | A IS T
gEt-aat enad _ daAn|
‘A) fee= 2015
B fagst 2014
() Tege 2016
(D) fega 2013
R AIHH G SRR T (T =300 K)
F URE B = 1.5 T & STedl 9 Y=g
& o T s B; e ¥ e § gEh
Ty ammepf p = 1.0 p, BT R, TH WY
# FrgaTTRen s St K Y T0RT R |
(A) 0.5eV (B) 0.039 eV
(C) 0.011 eV D) 0.45eV
TaugaEEE 3 fa e W sianfi niea
TR ReRa f R 2
(A) HHE (B) feem
©y e (D) Prart
e 9
2, )
(A 9 (B) %
) 123 ' (D) 60
. -
Al 435 % 2 ‘gg . E
242 '—‘;:‘.;_
Zr3* ,‘\’: 5
‘\fxt::?..“ 210
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5/2019 (1) (M2)

15.

16.

17,

19.

“A Century Is Not Enough” is a autobiography
of which of the following cricketer ?

(A) Sourav Ganguly
(B) Virat Kohli

(C) Sunil Gavaskar
(D) None of the above

A vector of magnitude 10 units pcrpcndicular
to ; =1+ j—k and coplanar with the vectors
b=2i-j-kand ¢ =i+2j-kis
10(3i—4j-k)

26
i+j+k
10

(A) £

(B) £

- (D) none of these

What is the magnitude of the vector
st N
[10 i - lOk] ms™! ?

(A) O (B) -10r

(C) 10 ms™! (D) 14.)

Nodes that do not have an J
called nodes

(A) Root \

(C) Parent

The Southern part 0. Alls is locally
known as

15. “THFHFACEE" » Prerferfaa 1 & fore B
) AHFATR ¢

(A) dra et
(B) fate &gt

‘fg)?awﬁa:??aﬁiﬂif
16. for 10 T 1 O AR @ =itk

3 ciwaq & oft aReEt b=2i-j-k 3K

¢ =i+2j-k ¥ @Haw 8
103i-4j—k)

@) + 2 -1~ 1
] +l._] -',(
L1064 +K) -
' J26 PRy
(D) ¥ & @18 T
17. mllo?-loﬁjms"mmm%?
A) 0 JB) — 10 ms™
(C) 10 ms™ (D) 14.1 ms™
18. rza ol 9 faega 7l 8 Jrem
Fead e |
(A) ®& (B) &%
JC) W= (D) 91§

19. IRraeh TETE F 2ot wrm A e w R
frETm AT SR ?

(A) Mewat hills (A) TaTa I veTieal

(B) Banger hills (B) &R &I qgTieal

(C) Yamuna hills (©) “ﬂ‘"ﬁ‘m@‘ﬁ

(D) Marshall hills (D) weiet wefeat

Choose the number-letter group which is | 20. E@AT-39 Vg I S quL & e &

different from the others.

(A) 18R B) 22V’ (A) 18 R (B) 22V

(C) 4X (D) 12M (C) 24 ¥D) 12M i

o/ )

} .2 3 L’ “(E g ? BH ;' , LW
) [;], cl P ¢ o/
2 -
2+ 2T 24 \33| 102/ {20\ () |18 i\ ”J
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21. If wis an imaginary cube :
the value of (1 + @ - mz):‘r_??: 22';’:‘_‘&;';":‘

(A) 32 (B) 16 @

(C) 27 (D) o

The place were highest average rainfall in
Haryana is

(A) Ambala district

(B) Sirsa district

(C) Mewat district

(D) Hisar district

22.

Set of vertices and edges which connect
them are called as
(A) Graph

(C) Tree

(B) Node
(D) Sub Tree

Aligarh fort located in Hansi which was
built in 12" Century which also called as
(A) Fortof Sword (B) Fort of Axe
(C) Fort of Knives (D) Fort of Ste-

Which one does not belong to th
(A) WITH : TIHW

(B) DONE : NOED

(C) JUST : SUTJ

(D) HAVE : AVEFP

-d from a
. as

If a number of

single base c
inheritance.

(A) Multiple
(C) Multilevel

, Hierarchical
(D) Hybrid

27. Complete the analogy.

KORT : PJWO : : FINR : ?
(A) GJOS -

(B) JSMR

(C) CINR

(D) KDSM

.5-

)

21.

5/2019 (1) (M2)
7R o FTE T T HIeAHE T ¢,
l+0-0)P-(l-0+)PFIER
(A) 32 (B) 16
(©) 27 o

22. e # e v W waifies sitaa aui
At 2 ?
() Faren e ,
(B) T forem w ,,L,,>3
(C) Bama Rren i ¥ o
(D) feam firem _wfw-2)
R 3R Rl & @2 S 32 Sied & 3% F
e &
(A) T (B) S
)R (D) @@
el i for srefire &1 feen <t 12 ff wdt &
T iwEaEn g |

«A) deER I fhen  (B) Feerel @ faer
€) st s fven (D) enfea @ e

fraforfaa 3 & Fra g gefta T& 2 ?
(A) 4§y |
(B) DONE : NOED
(C) JUST : SUTJ
D) HAVE : AVEH

2. MEFHwaFTaeRs, AW ___

ST el T § |
) TR
(C) wgwHia

AT U1 |
WJWO ::FINR:?
(A) GIOS

(B) JSMR

(C) CINR
WD) KDSM -

+5-5

N F——
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5/2019 (1) (M2)

29.

31

32.

28. The Haryana Panchayat Raj Act came into | 28 efwmon vame o ity B
force in the year o sl e T |
(A) 20 April 1994 (B) 22 April 1994 (A) 20@3 1994 4B) 22 et 1994
(C) 21 April 1994 (D) 23 April 1994 (C) 21Tf¥ 1994 (D) 23 firet 1994
_ [ cosx +sinx dy . [ cosx +sinx dy _
iy =t [cosx -sinx]lhcn E_ 29. qﬁ}':m I (cosx -sinx) dx
A L L
(A) -1 (B)E (A) -1 wB) 3
©)n (D) none of these ©)n (D) i & FE TE
Which operation can be performed on | 30, uied v =2 aifter fofan st & € 7
pointers ? w,
(A) Addition of two pointers A ::u.,ﬁzi = ﬂ'ﬂﬂ.
(B) Division of two pointers (B) = -
(C) Multiplication of two pointers o= '“53# S
(D) Compare two pointers &3 Giged &t g
A scheme introduced under which a se 31, UGS E 6 Té 3 s siafa sdres
citizen with BPL card can go pilgr FIEATS U a3 AT <l frefamn & @
government expense is called as TR 984 SO 139 FeaTdl B |
(A) Buda Bachao  (B) Sr (A) @ T=130 (B) v
(C) Tirtha Darshan (D) ey i 2 (D) &2 s=nat
During the National fia | 32. WA & UL Hidier & WA fra B i
which day was obr ence waaan feam & w9 o waw San 91 2
Day ? (A) 15 3114, 1929
(A) Anguat | «B) 26, 1930
(B) January .
(C) August 16, 19 (C) 163FRAY, 1946
(D) January 26, 1932 (D) 26 S, 1932
logex dy 33, TRy = glos(l+ee) o
[fy: eloge(]*'"- ) [hena‘: . Y=e¢ ax =
o i 1
(4) 0 ®) el “B)
©) 1 D) e e (D) e
-6~

U0 A
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4. *World Press Freedom Index” where 1ngia

Ranks 140" in world releaseq by
(A) Reporters without Borders
(B) IMF

(C) Amnesty International

(D) None of the above

-

35. The agro climatic zonal research station of
western zone is located in
(A) Hisar (B) Panipat
(C) Ambala (D) Bawal
36. Carborundum is
(A) Boron carbide
(B) Tungsten carbide
(C) Silicon carbide
(D) Zinc carbide
37. >>>T=(10, 20, 30, 40, 50)
>>> Tl =T[2:4]
>>> print T1
From the above example Output is
(A) 30,40 (B) 40,50
(C) 30, 40, 50 (D) 20
38. The highest population of p’
(A) Ambala F
(C) Kaithal
» I A EL .S :?
J H
23
(A) 2 ®) =
©) 3 (D) 4
4. The Haryana National Horse Research Institute
Was established at Hisar in the year
(A) 1988 (B) 1982
(©) 1985 (D) 1986
L

Downloaded from www.cclchapter.C§Ranned by CamScanner
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34, faga Y8 w@dEa gaHiE, @ wRa g #
140 ¥ A R B, @ ol R mn g 7

(A) Rardd famse aidd
(B) Ui g1 HY
SC) TR AT
(D) Iuraa ¥ & ¥ T

35, qfRerd &9 F1 FN Searg 87 JEIH FR
el fRm e ?

yA) fear (B) wriaa
(C) aen (D) sEad
36, FRESH TR 7
*A) SR FEIES
(B) 2T=A HiEige
(C) Tufcisia wiatse
(D) o smige
37 555 T=10,20, 30, 4'0 50)
>>¥T1 = T[2:4] as =
>>% print T1
Iqa IeTeT § TR =41 g ?
(A) 30, 40 (B) 40, 50
(C) 30, 40, 50 ¥y 20, 30, 40
38. ORI i waifern rendl fore T war§ g 2
(A) HdTeT (B) |Ffiga
(C) Fuat @7 Ry
)
ro
39. 1 e E B g "';
J H 4
—
(A) 2 (B) % ®
«C) 3 (D) 4
40. wfEn HigT IEUH §EIH fRar &
ﬁmﬂm%mwm?
(A) 1988 WB) 1982
(C) 1985 (D) 1986
E

\

S
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5/2019 (1) (M2)

41. To which of the following city the capital

42.

43.

47.

of Magadha was shifted from Rajagaha ?
(A) Banaras (B) Pataliputra
(C) Taxila (D) Agra

If a and B are the roots of the equation
PX'+gx + r=0 then o’ + Blar is

3,2
r -2 =
(a) 42D ) re-2m)
p
) il 2, 2
(©) r(q erp) (D) r'(q _22"2132)
P P
What‘is the rank of India in the World
Happiness Report — 2019 released by

the Sustainable Development Solutions
Network for the United Nations ?

(A) 160™
(B) 156™
(C) 140"
(D) None of the above

Let f(x)= ﬁ, x # —1 then the
x+1
o for which fof (x) = x is
(A) 0 ®) -1
©) 1 ™
Clezzon +H20_"§"° ‘|3Oo;
order and molec’

(A) 2,1
©) 1,2

Jon is

The process of linking the function call to
the function definition is called as

(A) Binding (B) Abstraction
(C) Data hiding (D) Encapsulation

In Gurugram of Haryana the Maruthi Suzuki
Pvt. Lid. was the first company that set up
a manufacturing unit in this city in

(A) 1970s (B) 1950s.
(C) 1960s (D) 1980s

41.

00 0 T 0 0
Ty &) YT S e 4@ fEe i
AR forar mar a2

(A) TG \B) ureferga
(C) asfiren (D) T

42. qﬁaaﬂtﬁmﬂmpx-‘+qx+r=0aﬂm

43.

45.

47.

g, Mo+ plat

(AT r’(q* -21p) (B) r(q -2rp)

3

(©) r(qz = 2!’[))

p
o) 2@ -2
3 pz

P
TR TG F GRATA SAATHE HIeTH FeTh
gam i B e v gt faé - 2019
o 9 AT TR ?
u‘\) 160
(B) 156*
m 140"
(D) 39T | | 13 TE
ate f(x)=%,x¢-—l @ o F1 " foras
RIT fof (x) = x 4
(A) 0 | (B) -1
©) 1 “D) %
CH,0,+H0H" ,CcH 0 +CH 0,
A R AR 1 s ol snfsmar 7 2 7
(AT 2, 1 (B) 0, 1
© 1,2 D) 1,0
T el 1 B TR A e )y
R FR AR ?
(A) amf=En (B) =Ty
© TR p) TR
wiamon & e fafare
gEet g oft fora fng mﬂéﬁw
T Y TG Y oft 2
(A) 1970 (B) 1950
AC) 1960 (D) 1980

\ -
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(00 T 00 D 0 0 5/2019 (1) (M2)

48. Choose out the odd one. 48, famm ;3-3“
(A) Rectangle (B) Cube (A) T (B) T
(C) Square (D) Triangle (€) & wup) B
49. Inthe group {1, 3,7,9} under ® , 49. T (1,37, 9) T @Ioa; Fata
(3@,7)'= 39, 7' = ”
(A) 1 ®) 9 wA) 1 ®9 |3 3)
50. Which Article of Constitution gives power | 50, @R H1 FH-H1 302 gar= A
to Supreme Court to issue writ ? 1 7 ST FE 1 AR 27
(A) Article 30 (B) Article 36 (A) DT3B IR 36
(C) Article 32 (D) Article 38 (C) =B 32 (D) 3IT=3% 38
51. _init_() is a special method, which is [ 51. it () T Fa faf &, for = e
called as Sare’
(A) Class destructor ) FATEH R
(B) Class definition B) Forrg ST
(C) Class constructor (©) FTTH FHHEgI
(D) None of the above (D) 3T | | g T
52. Thefirstmeetingrelatedto Non- . I ge GuTe HRIAA & e Tl A3,
Movement was held at Panir arfigd 1990 & @A wER A it &
3 oft 2
(A) March (U (A) wTE (B) g
(C) September (C) faaer «b) sl
53. Harsha Charita , v 53, ® i@ g feran m |
(A) Anantram S (A) FHaTm T|t
(B) Bana Bhatta «B) 91 WE
(C) Surdas (C) g™
(D) Balluka Sharma (D) T Tl
54. Indian National Army belongs to 54, s U A e e fea o 2
(A) Netaji Subhash Chandra Bose <) Yarsit guTs =% S
(B) Mohandas Karamchand Gandhi (B) WeaTd g e
(C) Lala Lajpath Rai (C) ST Feiad T
(D) Lal Bahadur Shastri (D) ¥ L NIt
9. E
R A
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P
55. sﬂagz%mﬁmi%rf@aﬁﬁm-zﬁdﬁ

wafa T g e ?
(A) NATO (B) WARSAW
«€j SEATO (D) NAM
; 1=
56. S@en T W | ?.:35 N
9,17,33,65,? o
(A) 99 (B) &
©) 117 @129 3
57, vt o R e e o SRR A © {
SA) =, gt amt
(B) T AT g H
(C) e THFS
(D) Iwiad | & Fis 8

s8. e ufy Y4, fied, e IR F3 HehiwT
mﬂ?m%,ﬁﬁmﬁwmﬁﬁmmﬁ

ST ST 8 ? .
(A) Fed B) FHd
(C) & D) wHd

59. UF FVI xy Hae # 9w @ &, e 3|t
Tﬁt:oi,ﬁRﬁZO ms-' & x °9TH AN
~15ms' & y HeH F A IRF I AR |
07 x TR 3 U T T gV T &, S o6

a_=4ms?® | forelt oft oo Jeer A s
et Fuffa |

A
AV, =(5+6t)i-15]
— A A
(B) v; =(10+6t)i-150 j
MO) V; =(20+4t)i-150 ]
(D) V, =(20+4t)i-15 ]

60. Tofew v % e e s A e waw
it Fme % for e foam o 2
(A) @€ forea
(B) WIS @i
(C) @iré g
D) @i wfem
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41 +3
=
T L el 5/2019 (1) (M2)
61. Complete the analogy. & %
BAYZ: CDXW ::FEUV:? AYZ :: FEUV:?
(A) HGST (B) EFYU (Aﬁ'ﬁ? (B) EFYU
(Cy GHTS (D) BAYZ (C) GHTS (D) BAYZ
62. Basel norms and frameworks are recently | 62. Foe A i wq@T B & HER i g,
in news, is related to which of the following A= A fra 89 yaafag ?
::t:arilking Sector (A) &
«B) Industrial Sector (B) Shreifirs & o
(C) Healthcare Sector (C) @A T@ITA
(D) None of the above (D) 9 A A 8 T8
 63. On 24" October 2015, Haryana Government | 63. 24 37agaX 2015 AN EEFRA
announced to start Sanskrit University at 3w RivaRaeE I F0Q 6 Srwon i |
(A) Mundri Village (B) Vidhan Sabha A) getrta (B) faem &
@}fRohtak (D) Ambala District (©) ﬂgaq:, (D) IETAT ﬁ'{—n
64. Pots are made in Haryana by using 6 <P i UTH ____Wﬁﬁfﬁ'ﬁﬁuﬂ’m
on the 0 T I § |
<) Wheel (B) Nagotr A) TF (B) TitEd
(C) Table R (C) B (D) digt
65. Minimum support pri’ g 65. fafl= qzﬁ ael & fou AdH e b Gl
agricultural crops ann” £ drgon FE B
mi;?i'nelCOmm’ (A) af 3 <61 R0 R
airs
(B) Parliament E. aittee (B) TEE i g wiwfe
(C) Parliament Comn.. a Public © e @l e <Ry
Accounts
(D) None of the above (D) T H A 18 T
66. 1f DELHI can be coded as CCIDD, how | 66. 37 DELHI #! CCIDD % %9 & #ifea o

31 @1 2, 9 39 BOMBAY ! %8 #i8

would you code BOMBAY ? N
(A) AIMTVT A)
(B) MIXVSU (B) MIXVSU
Y€y AMIXVS (C) AMJXVS
(D) WXYZAX : (D) WXYZAX
11- i g - E
A 5
f
- ) A
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5/2019 (1) (M2)

67.

69.

70.

71.

72.

73.

74.

Choose the word which is least like other
words in the group.

(A) Geometry (B) Trigonometry
(C) Algebra (D) Stoichiometry

Phag dance is performed in the month of
(A) Vaishakh (B) Pushya
(C) Phalguna - (D) Jyeshta

Choose the one which is different from the
rest. -

(A) 7 (B) 31
©) 15 (D) 57

The major Kharif crop of Haryana is

(A) Wheat (B) Jowar

(C) Ragi (D) Rice

EGIK : FILO :: FHIL: ?

(A) GIMP (B) 1@

(C) GMJP ({2

If arelation R onthe - aed

byR=((1,2),(

(A) rcﬂgxivr Jic
(C) tran* Juivalence
The Fu f Haryana was

(A) ShriDh.  .veera

(B) Shri Tapase

(C) ShriR. S. Narula

(D) Shri B. N. Chakravarthi

If x means +, y means -, z means +,

-12-

p means X then (7p3)y6xS5 is
(A) 5 (B) 15
(©) 20 (D) 18
_"*r
g

(AR
67. o vIee AT S AR T VIR A HoH A
e ® 1

|
(A) st B) Frorfifa :
(C) T (D) TEEHieRTRfd
68. HI I Fued fFama e |
(A) @ (B) I
ey FE (D) S
69. AN aEh AR
YAy 7 (B) 31
‘C) 15 (D) 57

70 ST g T FE 8

PO { (B) R
(C) wwft (D) dEd

7. EGIK:FILO::FHIL:? 427
(AT GIMP (B) JGMP
(C) GMJP (D) JGPM -

+ 4L +D 4y
72. aREG=A (1,2,3) WIS YR,

R ={(1,2), (3, 3)} TR aRowifere Berm 2,
WRE

(A) wfafsrarers (B) wwfifa
2y FFHE (D) WAgeH

73. =T T W TER o9y
(A) st widfiq
(B) +ff a@
(C) *ft AR TH. F&eT
@) .. e

74. ﬂﬁxﬁlﬂﬁt-&.yﬂﬂ‘f-,zﬁﬁt
p &1 379 x it (7p3)y6x5 ®

(A) 5 (B) 15
Xey 20 (D) 18
s
')'. e T (qv)t'!.)"'-
) - BT %
) Ip Tox ok 3)!
21 5’.’ A
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5/2019 (1) (M2)

English Language

Fill in the blank with appropriate form of the verb

from among the options given below.

75. We're good friends. We
other for a long time.
(A) know
(B) have been knowing
(C) have known
(D) knew

each

Fill in the blank by choosing the appropriate clause
form from among the choices.

76. Colin told me about his new job,
very much.
(A) that he’s enjoying
(B) he’s enjoying
(C) which he’s enjoying
(D) he’s enjoying it

Fill in the blank with appropriate modal form from
among the choices.

It’s late. It’s time gome.

(A) we go

(B) we should go
(C) we must go
(D) we went

77.

Against a key word is given four suggested
meanings. Choose the correct word or phrase which
is in meaning to the key word.
78. Retentive

(A) not forgetful

(B) secretive

(C) grasping and greedy

(D) experimental

-13- g #2
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Select a word or phrase from the given options to
complete the sentences.

79. If you need a coat you will have to buy
as I cannot give you mine.
(A) it
(B) some
€) one
(D) any

80. Although he worked very hard
get first class marks.
(A) he did not
(B) inspite of it he did not
) but he did not
(D) however he did not

Read the sentefice to findout whether there is any
grammatical error or idiomatic error in it. The error
if any, will be in one part of the sentence. The

’ number of that part is the answer.

§1. Being a cold day/neither my friend/

1 2
nor I was in a mood/to go out.
3 4
A 1 (B) 3and 2
©) 2 (D) 4and 3

Against a key word iT"given four suggested
meanings. Choose the correct word or phrase which
is opposite in meaning to the key word.

82. Quixotic
(A) Imaginary
(B) Romantic
(C) Fantastic

() Practical
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